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(I) UTOMICEXR2E, BEIEMOTOEMIEATIZ L,
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LCEH i, iz, ia%RDB, UTOFRICH> THRELRIW,
O TR J ZELEREEZ#E, R, Ry, RICHNDER in, i, is (ABEICERTSZ L) ZRDREV,

@ BERE #BEL-EREEZ#X, R, R, RICHNZER iz, i, iz (ABREFRT L) ZRORIW,
iz1, i3 & LICH AR aNOHEMTIAEITEDDZ L,

@ ERAEDEEITV, i1, iz, 3ERDREN,
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(Im) UAToRICEZ L,
(1) BUTOAL VBEENGRD C FEOTa S 753, FE, HEREZ, PRE RREZHETIB%E
fERE L, R LAERRT 077 A0OBMECHT HMTIIMRERRY =2 AV M 2352,

Binclude <stdio.h>
Binclude <math.h>

fidef ine SIZE 99

doble sd(int(]);
int median(int [1); be
int mode(int [1); /x B8R

12 int main(void){
13 dowble res_mean, res sd;
14 int res_median, res_mode:

—_
WD N =

doble mean(int [1); /%
/x
/'

fi
2R

15

16 int response[SIZE] = {7, 5, 6, 8, 1, 9, 9,10, 8,10,
17 1,4,8,8,7,3,38,7,5,
18 10, 6, 8, 8, 5,10, 1, 1, 2, 2,
19 4,317,565, 9,81,8,9,
20 1, 4, 4, 4, 9, 3, 2,10,10, 7,
21 6,2,5 6,6,5 4,83,6, 3,
2 9,3,9,6,1,3 4,86, 72,1,
23 1, 7,10, 3, 9, 6, 3, 2, 6, 8,
4 2,5,8 6105 1,2,3,9,
25 3,6,85,8 3, 1,5, 9k
28 res_mean = mean(response);

271 res_sd = sd( ):

28 res_median = median(response)

gg = mode(resoonse)

g; printf("Results: Mean:%.2f, SD:3.2f, Median:%d, Mode:%d¥n”, res_mean, res_sd, res_median, res_mode);
33 retum 0;

34 ]
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(Im UTFoRicEx L.

(2) H2EHn( = n = 100) OFEREHALLL &, KEIHOEHET D E0OBERDS CEFEOT ST A
ZERE &, BIXIE, 1001=3628800 &2V, TDLENEIX2 L7423, ERALLEEERS T Y5 A0BECHET
BEMTITFRERRY a X bEDITH T L,
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